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ATE QG 7,030,533 3,632, 144 3,398,389
s 1,070,000
J| 934,050
< 5,049
s 5,021,434
H=EXE 6,543,778 3,265,359 3,278,419
s 1,070,000
J| 934,050
< 5,049
s 4,534,679
AXXAH 1,159,013 1,072,471 86,542
| 239,270
< 5,049
[ia 914,694
HsAd22el 310,581 229,795 80,786
101 @124l 35,881 35,095 786
M4 JI2ZHZEXNSES 35,881 35,095 786
O MsA&gs2e ExHA 92
9,520,000& 9,520
O MEeA&E=2el JI2HM2 2R el2t] 26,361
- JlZ2s 73,280& 260 19,053
- =¥ 73,280& x52 3,811
— HIE A 73,280& 15 1,100
— 42 &I 2,396,256& 2,397
201 Let24d] 172,500 162,500 10,000
01 At 22l 27,300 22,300 5,000
O st&Ea 223 5,000,000& 5,000
O gD dE MEZ 1,800,000 1,800
O ol dg A2z 50,0003 = 4CH » 123 2,400
O &8 WA & 7L 50,000 =104 500
O AB4822 £ 472 =4&H 2,000,000 2,000
O MESAES 22X 2] 5,000,000& 5,000
O HegsstEs s ¢ 5,000,000& 5,000
O HMEBAES 018 HAEZZ 7¢
600,000 600
O MM IASEZE L2 A 5,000,000& 5,000
02 2=2Z 4l 145,200 140,200 5,000
O AdUNd=s2 & SE2sE dIIe=s
4,000,000& = 12& 48,000
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O AdUds2 AU 34089 5,000,000& 5,000
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01 X2 H| 9,540 9,540 0
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307 QI2t0| ™ 5,100 3,200 1,900
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01 A& HI 200,000 0 200,000
O ZEINSZ HE=ZA 200,000
— &% 2 A B+ S 200,000,000 200,000
| 60,000
i 140,000
8L EX MEALE &AM (Z/2E) 300,000 0 300,000
s 300,000
401 Al HI & 28I 300,000 0 300,000
s 300,000
01 A& I 297,840 0 297,840
O HMSANE 4X(57F, 7, gt S
) 297,840,000 297,840
as 297,840
03 Al S THHI 2,160 0 2,160
O A&S2HYI(0.72%) 2,160,000 2,160
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O BYNZTE HSANE HES (2SS, =X
& JHl 8) 50,000,000& 50,000
SSHANsS3 MYz A AXSA 50,000 0 50,000
401 AIEHIZ 28I 50,000 0 50,000
01 A& HI 50,000 0 50,000
O 0sEX 243 50,000,000& 50,000
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fHsds XN 94,350 94,350 0
301 LEd = 94,350 94,350 0
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307 glz2tol & 119,188 116,928 2,260
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02 It M AHE X 119,188 116,928 2,260
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2,483,080& » 4FH 128 119,188
| 59,593
= 59,595
S8 MEHMSXESA BiXI(012) 208,579 204,624 3,955
| 104,289
s 104,290
307 glz2tol & 208,579 204,624 3,955
| 104,289
s 104,290
02 It MAMHEE 208,579 204,624 3,955
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| 104,289
s 104,290
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307 2Iz2to| & 29,797 29,232 565
J| 14,898
= 14,899
02 QI AAIE E X 29,797 29,232 565
O Zofel MEFX =X X
2,483,080 * 1 = 12& 29,797
J| 14,898
= 14,899
H=saA K& 475,435 368,235 107,200
201 et 3,960 3,960 0
01 AF 22| H| 3,960 3,960 0
O AZxUg 88 & 243 &0 HE
66,000 * 504 + 123 3,960
307 212t0| & 471,475 364,275 107,200
02 QIZHE AAIE 2 X 300, 196 291,675 8,521
O dEEE3 & eol=tal &It
2,142 ,000& * 70% 1,500
O @2AUNSUS HELS 2SN
3,000,000& 3,000
O Metg gl &u EE2Ha &oF
2,857,000& * 70% 2,000
O MeEHs g4 X 16,200,000 16,200
O MadEx7E3 K6 =&
5,714 ,000& * 70% 4,000
O LoHOIEESEUE &It 3,600,000& 3,600
O HsgH NEa d¢tia &ot
11,430,000& * 70% 8,001
O detd=dsus &It 140,000,000 140,000
O &= 0tetEts &It 10,471,000 = 70% 7,330
O d=2AEHNE 222 s IR
4,000,000& 4,000
O d=2MEHsUHEsHE ZIt 2,565,000 2,565
O detg oEadMaEysiia &It
10,000,000& 10,000
O M=2&u Msda M= XS
30,000,000 30,000
O EXADD &= MEM=UI o1l
55,000,000 55,000
O detgd=a s CMd & e A
& 10,000,000& 10,000
O detg=o &) =323 &I 3,000,000 3,000
03 UAHHEESIHEX 111,279 72,600 38,679
O &d=sZ2H=3 249H XN& 111,279
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31,779,200 31,780
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— ANR=2F 19 o AHH| 35,620,800 35,621
AR XHE 1Y o1 H| 12,600,000& 12,600
— AEed3yd AAS 189 22|
31,278,000 31,278
04 SIZ2SHAAIH E & 60,000 0
HUYRAE MZ20ItEHS W=
71,428,000€ = 70% 50,000
AEZLU Y S50 HIsUE A
14,285,000& * 70% 10,000
ool M=gA XI& 79,500 52,980
307 212t0| & 79,500 52,980
12HE AAHE E X 51,500 42,000
NMete T MO M=sE &It
40,000,000 40,000
M= XNHMAEFOHC M= =t
2,500,000& 2,500
Metd T 0o M=sa &0t
3,000,000 3,000
ME22H EHd0 0t2tE a3l 20
2,000,000& 2,000
MY AIZEOMC M=EE =IOt
2,000,000 2,000
M= LS HOMHOESZS Uzl &It
2,000,000& 2,000
AEHHBASIHE X 28,000 ,980
AERAMAM=ES 2EH A 28,000
— ANR=2 29| (MR, 2223 5)
10,000, 000& 10,000
— AIR=2E 19 o124H| 18,000,000& 18,000
Heloldsna 249 3,000 ,000
307 QI2t0| ™ 3,000 ,000
A MAIEE X 3,000 ,000
Heloldsua 89 3,000,000& 3,000
A Heawns 29 3,000 ,000
307 Q12t0| ™ 3,000 ,000
HEAMASEEXR 3,000 ,000
HAE Honsy 29 3,000,000 3,000
M= 2% 1,500 ,500
oIz2tol A 1,500 ,500
A MAIEEXR 1,500 ,500
HAEaMEYs 2X 1,500,000 1,500
=HEUE 249 3,000 ,000




2N A=A
M MEIE
©@e: AX=0IAE (22 &d)
SN 3H - HA(FA) - NIRAIS - HES Off &F o4 %‘Ei Husz
307 21201 & 3,000 3,000 0
02 HAHFHYANEEX 3,000 3,000 0
O E=Hd=sUs 29 3,000,000& 3,000
MEHsnd 29 7,000 7,000 0
307 21201 & 7,000 7,000 0
02 HAHFHUANGEEE 7,000 7,000 0
O degdsnsy 29 7,000,000 7,000
FET 3 HHPUS Nz 2,000 2,000 0
307 glztol & 2,000 2,000 0
04 QIZHHALALS B = 2,000 2,000 0
O ez =32 Bi*UHal JHzl 2,000,000 2,000
dllz@dg R 100,000 0 100,000
307 glz2tol & 100,000 0 100,000
04 BIZHHALALH 2 & 100,000 0 100,000
O dXed8 |i & 28220 Hal A
100,000, 000& 100,000
A2 Jet2E=Z0s 10,000 0 10,000
307 glztol & 10,000 0 10,000
04 QIZ2HEHALALS B = 10,000 0 10,000
O &0 J2ASES3ZUSE M
14,285,000& * 70% 10,000
2E =03 |31 N2 8,000 8,000 0
202 044l 3,000 3,000 0
01 SLHOHI 3,000 3,000 0
O 2XZx(i3 X0 & dXEH R =&
60,000% = 29 * 25 3,000
203 ¥R =&l 5,000 5,000 0
03 Al =T YR =& 5,000 5,000 0
O AEIMACE 2 AMFUYRFAH|
5,000,000 5,000
LBt S X = A UH X (KERI) 17,440 13,600 3,840
307 21201 & 17,440 13,600 3,840
02 HAHFHANGEEE 17,440 13,600 3,840
O optdex =X =Xt 17,440
— EZES0tl 500,000& = 4% = 23] 4,000
mE==a| 200,000 » 48 « 12)H& 9,600
— =24t 3,840,000& 3,840
Hzd MEMSXESX X (XA 30,520 23,800 6,720
307 glz2tol & 30,520 23,800 6,720
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A - -G (3A) - A - BES Off &t 24 %Ei Hns2
02 HAFHANGEEX 30,520 23,800 6,720
O dzddedsAEX 30,520
— BESJH 500,000& » 7& = 23 7,000
— wEHl 200,000 » 78 + 1204 & 16,800
— =24l 6,720,000& 6,720
ool MEMSXSX UHXI (XA 4,456 3,400 1,056
307 glztol & 4,456 3,400 1,056
02 UANHFHAEEE 4,456 3,400 1,056
O ZHAUEMS K= 4,456
— ZE SOt 500,000& » 1¥ » 23 1,000
— w&H| 200,000 » 18 * 12)4H& 2,400
— =4 1,056, 000& 1,056
Hss 4228 N 3,000 3,000 0
307 21201 A 3,000 3,000 0
02 I HAMAEE 3,000 3,000 0
O ZezHM=ss 4282 N (MR=2FE, d=
34 HEg) 2,000
— EZ=0tl 500,000& »2& 23] 2,000
O ZAHMSI (MR2E) 1,000
— &5t 500,000& 1 »23] 1,000
=8 128 A 15,000 0 15,000
307 glztol & 15,000 0 15,000
02 It HAMAEE 15,000 0 15,000
O R/ERZU dEM=s gd3t X
15,000,000& 15,000
d= &2 WA A 270,000 0 270,000
201 fEt2E | 20,000 0 20,000
03 A2 20,000 0 20,000
O d=303 Wzl #A2EH
5,000,000& = 44 CHZ 20,000
307 21201 A 250,000 0 250,000
04 QIZHHALALH B = 250,000 0 250,000
O Fgdds A NEUSA 150,000,000& 160,000
O A 8= &1 &7 WA 100,000,000& 100,000
SSAEs2el 276,575 217,765 58,810
SSANEE B2 EH 276,575 217,765 58,810
dgd CIXE, 4333 2EBEY 29 276,575 217,765 58,810
101 Q124 4] 86,825 113,505 N 26,680
04 0I2ZtHZ22 s+ 86,825 113,505 26,680




2A AZXAAC
HM: 2z Adszel
Cel: ZRANES 2402 FY (St
_ _ _ NE|
M- M .2 (3H) - NREAMY - BHES 01l Ao %Il&ﬁ Husz
O HLNLXE, MHEZH OF2A2 2T (Y14
) 86,825
- =2 100,000 130 5% 65,000
- =53¢ 73,2802 x26 2 x5 9,527
— GJIE2 &Y 73,2802 7L x5 2,565
— AEE(HY, 2HZ DI2EEH AE
) 9,183,000 9,183
— EY2224¢ 109,920 x5 1 550
201 LEt2 A H| 56,750 104,260 247,510
01 A2 22l | 15,800 24,260 A8,460
O Y29 15,800,000 15,800
02 2229 H 40,950 80,000 239,050
O 2ze2 <2 HA 40,950
- 2222 25,000,000 25,000
— o2y 5,950,000 5,950
— ANAZHSXH (ZHCI2I], 0= 225)
5,000,000 5,000
— ®I|&H orMBR HE#H2=H2
2,500,000 2,500
— ABAIE HA L e L2
2,500,000 2,500
401 AlEHIZ 20l 100,000 0 100,000
01 Al&H| 100,000 0 100,000
O BYXRZTE MIAQEWMIR Al&AES
100,000,000 100,000
405 KHAHE SHI 33,000 0 33,000
01 MY EEF SH 33,000 0 33,000
O HEI ¥ AXI(LAE), ¥2I| S
33,000,000 33,000
HYSHBH (AZ A 65,180 64,020 1,160
23 65,180 64,020 1,160
23 /ATXAHLE 44,180 44,020 160
201 L2 Y| 29,000 29,000 0
01 A2 22| H| 24,000 24,000 0
O 2gt29H| 20,000,000 20,000
O S & 4,000,000 4,000
02 222 g H] 5,000 5,000 0
O RERE U8 2 4272 $2448 S
5,000,000 5,000
202 04l 10,000 10,000 0
01 2L 0dtl 10,000 10,000 0
O HMSALES 22 =0 3,000,000 3,000
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2N A=A
M HNSHHH (AZRAD)
Sl Dl (9@ )
£AH-FH-H2A(3AH) - A2AY -BHES Oil &k o4 %Ei Hw=sz
O ATXAY A2 FAY 7,000,000¢ 7,000
203 P2 =) 4,680 4,520 160
02 HEAOtAt R E T Y| 1,080 920 160
O HAI AR 40,0008 «27% 1,080
04 BN AR FTY 3,600 3,600 0
O BARIYR=FH| 300,0002 *12& 3,600
405 XHakE S 500 500 0
01 AL EEF SH 500 500 0
O JIEt BSXH& 5 S 500,000 500
J2AH /AT = AILE 11,000 10,000 1,000
201 LBt 7,000 5,000 2,000
01 AFR 22l 7,000 5,000 2,000
O AZXALE ALt2H A 7,000,0002! 7,000
202 04 H 4,000 5,000 21,000
01 204l 4,000 5,000 A 1,000
O AZZAILE U0 4,000,000¢ 4,000
JIEAH /AT XOIAHEE 10,000 10,000 0
201 LBt 5,000 5,000 0
01 AL 22l Hl 5,000 5,000 0
O A2ZX0AEYE J=229HH 5,000,000 5,000
202 04 H 5,000 5,000 0
01 2044l 5,000 5,000 0
O 2ZX0ANEYE =AY 5,000,0002! 5,000
WRES(AZXAACH 145,000 35,000 110,000
HWEAANXE 145,000 35,000 110,000
WHEHANZS(MSIEISTEI) 145,000 35,000 110,000
7020120 E3 145,000 35,000 110,000
01JI38&2 145,000 35,000 110,000
O HEXNE)3 853 145,000
— sn Hs 60,000,000 60,000
— 2% M2 2 XNEX A2 30,000,000 30,000
— 2ITAEZXZY 29 NA(#E5S, 588
) 55,000,000 55,000




